AL &R

[(RFREL—FAUH]

BX= R=*
46 1tk | £ 16 9 | 34
45 | 13 TZ 16 L 26 Th |
T ™ 1] 16 I35
43 6
T
an ® %
i R HE b33 L=t HE % 5%
= 2 s |& g A 2| | =
= T T
[ZFRTRREI—7]
REALT BX= BRXETL RKERLL
N 7 O 14 0O » O
BT 37-1 26-9 37-4
- x I x * x
mA= 0-12 10-15
/. \ BB jJ O
BRRRT x o 25-6
RERE L X @) X
BF TF
Ei% EHREBERFESER EZ% EBaXFER
AEER BERE®R AEE BREIXFER
F=4 BREIMEER F={ AERILSH
RAMETY RZAMTY
1 BHEK RREBEREE=ER 1 KBEAHE BALFER
2 WM EREBEREE=ER 2 EBEB#E BAXFER
3 /W FRE EREBEREE=ER 3 HibDE BAXFER
4 HKEH BEER 4 EHREF BEALKFER
5 Wik K& BERER 5 BIRKREF HBREIBFER
6 HEANAF BREIMNZEER 6 EES BXBIFNFEER
7 BEF £E8B EAER 7 BF A KERLUER



